[image: image1.png]14 The eye is a receptor.

(a) Describe the role of a receptor.
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(b) Name the layer which contains rods and cones.
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(¢) Suggest why nocturnal mammals have a high density of rods.
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(d) Give two features of the cones.
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(e) Describe how the image reaches the brain.
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[image: image2.png]15 The diagram shows a reflex arc.

(a) Name parts A, B, C and D.
A
B
C
D

(b) Draw arrows on neurones B and C to show the direction of the
impulse.

(¢) Describe the differences between voluntary and reflex actions.
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